P
TR T K F2022F L BRREAAHEREXBH RSN RS E

SHiES a4 REL )RS HR) TH A R G ES |15 5 ES
342601 #kksokkiorx2 ] 1 ESUN Frael bty 5 TR REMREpE | dh—d | FILIKRXEEEESE 307 316
342601 #kksokkiokk(13 Bt Frael bty 5 TR REMREpE | dh—d | FILIKRXEEEESE 307 316
342422k Kk kA% T3 | Bk BraelE ke TR REMREpE | dh—d | FILIKRXEEEESE 307 316
34122 Tk 016 ks A5 TAE HAYE | E—H | HRXESEE 304 308
65310 Lekekersicieerok 210 | i) otk o B J3AK H 31, R ] S e | R X A3 E 304 308
342221 sctectoiork(034 AL EFIl AR | W F5 IR X A3 304 308
533528k [ 12 W Hzh it HARE | St | FHLURXBESEZE 304 308
3425304310 R H 31k AR | 4 F IR X ARES)E 304 308
34042 ] stttk 85 1 fi g EFIl AR | W F5 IR X A3 I 304 308
34122 1 stttk 4 74 X P, H 21t R ] S I | R X A ESE 304 308
34040 3kkskkkkkkk6 12 gioefe H 3k HASRE | E—4 | FHLURXESEZE 304 308
34032 3kkskkrokkk ] 2 * [k H a3k HAFRE | H—4A 75 IR IX A3 )2 304 308
341602k kkkkk4%597 i H a3k RS | —4A 75 WAL X A3 )2 304 308
341222k kkkk4%37() fEx%: H 31t RS | —4A 75 WAL X LS E3 )2 304 308
34260 Lskskoksorknx8 ] | *7A H 3k HASRE | E—4 | FHLURXESEZE 304 308
34022 2skskskkkkkk 336 Hexl H 3tk AR | —4 FIR X A3 304 308
34022 1 #skskksxkkk% 252 JE % ] H Zhik A% | H—4 F IR X S E3)Z 304 308
34253 0%kkskskskskokxkk0 13 i Hzhik HL AR 22 e H—2f 75 IR X A3 )E 304 308
340406%kkkx35kkx%015 *2K Hzhik AT | —4 FIR X A3 304 308
341225%kksekokkekx9 10 *fiB EEIl B | —4 75 IR X S 32 304 308
342225k kskksotonk5 18 Fxfh EFLA B | E—4 | FHLURXESEZE 304 308
341102%kkskkk%%21 4 ] H a1k B | 34l 7R IX B3R 304 308
34022 1 %5k 361 *yE H 501k RS | =8| HRXEAEE 304 308
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341224k kkk0k%6 19 A THEIEN H— | FILRXICSCEAESZ A308 A306
34060 3kkkkektokkk255 *FR T A& F—H | FILR X SCEAESE A308 A306
3408245tttk 8 1 8 VS AR HL—H | FILR XL CEARES)Z A308 A306
341223tttk 73X FHHAS TR HL—H | FILR XL CEARES)Z A308 A306
340123tttk 05 1 x5 TR HL—H | FILR XL CEARES)Z A308 A306
341223 kkskkk k%31 2 5Kk TR HL—H | FILR XL CEARES)Z A308 A306
3401 1 Ieteetoteiototok0 1 1 i TR HL—H | FILR XL CEARES)Z A308 A306
34162 I eiciorioioik 1 4 R TR HL—H | FILR XL CEARES)Z A308 A306
34060 Jsksioitiork6 14 IS TAEEM L—H | FILR XA JZ A308 A306
342426 kskkeksolokok 45X *yh THEEM Ie—21 | FiR X SCHEARES 2 A308 A306
34088 [ skttt 1 8 * R TAEEM L—H | FILR X SCEARESJZ A308 A306
34112 Tskseictoionx6 1 7 e TAEEM L—H | FILR X SCEARESJZ A308 A306
342422%4kkkk4k%053 T THEEM Ie—21 | FR X SCHEARES 2 A308 A306
342224sksickkAk6 1 2 Bk TR LW | FH IR XL SCHEAES = A308 A306
340828kttt k63 7 LSt TR FL—H | FILR X SCEARESJZ A308 A306
341023kttt 019 Bk, TR FL—H | FILR X SCEARESJZ A308 A306
340321 sksokkiokx43 1 et TFEEM LW | FH IR XICSCHEAES = A308 A306
342922 5sskskkorskd ] 1 HeH T THREEN Ie—2 | FiR XL SCEARES 2 A308 A306
342601 %tk k%850 LN ViR T LW | FH IR XICSCHEAES = A308 A306
342625k k 25X B[ Vi L Ie—2 | FR XL SCEARES R A308 A306
340602:kkskotskolk6 1 1 KK VI T FE LW | FH IR XL SCHEAES = A308 A306
34120 4sksickiokx0 19 T*3E if 5% B FH | FHRXICSOECHEA)E 406 4% 407
341021 sotstolotsiokk 53X ik if 5% B FH | FHRXICSOECHEA)E 406 4% 407
342523tttk ] 35 N 0 4% 4 FH | FHRXICSOECHEA)E 406 %% 407
330824skskkskkotokk 713 R TrE s B | FLEXICCHECHK4E 406 %% 407
342201 %skokkrtor k479 Aok TR B | FHRXICSOECHKEA)Z 406 % 407
340322 %k kkkk %8 1 1 Fifix 22 TRE F—H | FRXICCECHE4ZE 406 %< 407




340826 ksksotionk 710 kR T e 7 e B | HURXICOECHE)Z 406 4% 407
34082 5kkskkrokkk4 ] 8 PEEs TR S B | FHIR XL SCECHEAE 406 4 407
34011 1 %kksoksinx013 S TREH RS B | FHLRXICOECHE)Z 406 %% 407
341224 %k 5k 8 19 TxfE Efrir 5% B F—d | FHR XL SCECHEAZ 4064 407
342622 %k kkksk %617 ik bRt 5% 4 F—H | FRXICCHECHEAE 4064 407
34242 Ttttk 03 1 Ak brezdr 5 H RS B | FHLRXICSOECHE)Z 406 4% 407
34250 sksokksokkk5 32 Z=x[H bRt 5% 4 F—H | FRXICCHECHEAE 4064 407
34252 4Kk k(36 *ik HEfrir 5% 4 F—H | FRXICCHECHEAE 4064 407
340121 sekoksototolok 1 30 F*r brezdt 5% ) e | FHRXICCHECHEA)Z 406 %% 407
34262 2%kkslosokk 21 4 ik HH e | FHRXICCHECHEA)Z 406 %% 407
34062 1 sotsiolotsiolk 47X sk HT e | FHRXICCHECHEA)Z 406 %% 407
34220 skiokiok k434 T A== A B | FHR XIS CHEAE 40674 409
340322%kkskkkotx0 ] 1 T i R FH | FHR XL OECHE)E 40674 409
341202skskcksoiiokx 314 it i R B | IR X CHECHE4)Z 40674 409
340803tttk 5 34 kP 2T R FH | FIR X ORECHEAE 40614 409
340121 sekotsotottork4 10 i i e M| FHIR X SOECHEA)E 40674 409
340827 Hkkkkx44%9 10 * 5 =t [ B | FIERXICCECHEA4 406714 409
340122%kkkkxkk %473 ek Hf] A== [ FH | FHE X CHECHAE 40674 409
34242 Ttttk 210 X1 A== e M| FHR XL SOECHEAE 40674 409
34011 Ietsetsotsiork513 T 2 R FH | FIR X SOECHEA S 40674 409
342423 %kkskkk4%853 g3l 2 R FH | FIR X SOECHEA S 40614 409
3424265 kskksiokork81 1 ki 2 R FH | FIR X SOECHRA S 40614 409
342622 %kkskkkok% 255 sk Ty 2 R FH | FIR X OECHRA S 40674 409
340223*kkkkkkx%] 10 *Hf b B FH | FHEXICCHECHEAE 40674 409
34070258580 19 s 2 R B | IR X SCHECHEA)Z 40674 409
340122%%skk5k%%940 1 S e A FHIR XK SOECHA S 40674 409
34222 4Kk kxk k%058 Zex H Eie e FH | FHEXICCHECHKEAE 40674 409
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340702sksk5k58%51X *4% 2 eSS B | FHR X SCECEE 40675 409
340321 %kksok ik 759 S e BEL | FHURXICCHECHE)Z 40674 409
340123 %skkkk0k:400 * 7% =it S B | FHRXICCHECHEA)Z 40674 409
340123kt %396 EX 3G TmE S B | FHIR XL SORCRE4)E 408%% 411
340123%skckotstookk9 1 7 B skl TInEH 4 FEA | FIRXIC O CHEA )2 408 % 411
34102 ] sksokiork3 2 i s S FoH | FHIR X CECE)E 408%% 411
34222 ] sk 6 | X TR TmE RS FoH | FHIR X CECE)E 408% 411
34020 2skkkkkk%8 10 xR e B B | FIRR XIS CRE4)Z 408% 411
340822%kksk k4% 39 Tl i 378 8 e F= | FHRRICCHECHEA)Z 4087%% 411
342625tttk d ] 1 Y T EH A FEH | FHR XIS CHEAZ 4084 411
340823 kksokotok k919 it i 378 8 e F= | FHRRICCHECHEA)Z 408%% 411
340321 sksok sk 292 Gl i 378 8 e F= | FHRRICCHECHEA)Z 4087%% 411
34250 Dskkksrrknk01 3 fh e T EH A B | FIR X OECHE 2 4087 411
34032 1xkkrkdokk9TX B s e A B FIR I CECHEA4 4087k 411
342221 wkotsotottok k596 i 9 B 4 R B FHR XIS OECHEA)E 4084 411
342224tttk 151 HEST e A | FHR XL SCHECHE4ZE 4087k 411
340222%Fkkkxk%%315 k' NiEZE=%i! [ B FIR I CHECHEA4 4087k 411
340203 %sskskktksk%0 10 Ji* 5% NiEZE=%i! [EEa | FHR XL SCHECH4ZE 408 % 411
340322kttt 21 7 Hxfh NEZE=%i! [ | FHR XL SCHECH4ZE 4087k 411
34032 1skokekakAokk 498 *PE T EH B FEAH | FE X SCHECHEAE 4087K 411
34102 Ikskskkdokk 055 T T EH B FEAH | FHE X CHECHAE 4087K 411
34012 Ikttt 1 7 kx4 T EH B FEAH | FHE X CHECHAE 4087K 411
341125%kkkk4kk%552 Wi T EH B FEAH | FHE X SCHECHEAE 4087K 411
34222 5kksckotlok k6 16 JE* DEZE%: 5 e =W FHIR X SOECHEA)E 40875 411
34062 #AskkekakAckk 090 Wordr T EH B B | FHE X CHECHEAE 4087k 411
341223 %%k k30k8k% 11X x4 TiEH e M| FHR X SOECHEA)Z 408 % 411
340827 #kokkktok k317 st TiEH e F=H | FHR X SOECHEA)Z 408 % 411
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342523k kkkkdkkk] 19 [SEPN TR MUbEERE | B—2 75 1R X MU 2 410 405
34222 Iksksokkrkk k535 Rex i, A TR Hlblpe | 25— 75 IR X W42 410 405
341024%kskkkkk% 7 19 I A T A% ML= be | A 75 1 X MU 2 410 405
34202 3kkkkkkk%%219 Fxfh T T A2 BUb B | 25— F R IX B4 )Z 410 405
34060 2skkskotskotokotok6 18 Frxtz T T A2 MUBE B | 25— F R X U4 )Z 410 405
34220 ksokiok k954 *7f A A BlbkBe | E—4 75 IR X W42 410 405
341021 %kkskkk4%976 kS 5 T RE BUBERE | S5 —4 75 LB XA U4 2 410 405
34240 etsolotsolok 253 R AR BlbkBe | E—4 75 IR X W42 410 405
34260 1 koksototlork5 16 i 5 TR Bk 7 Bt H 75 LB X AU 42 410 405
341222%kkskkkox4 1 5 GIRE] T T A2 BUBR 7 B M| FLRXHIWE4)Z 410 405
34260 stttk 4 19 ekt T TAE Bk 7 Bt H 75 LB X AU 42 410 405
3411 25%kkkopkkx 234 B )% BUbRBTHfIE XL BB | IUEBe | B2 | FHILRXPUE4)Z 406 405
65292 Tksksokiork [ 99 (ZLV/N BUBsE Tl AL AZE | HUEERe | B | R XPUE4E 406 405
340123 %kkkkkx5%574 gR K PO S KL AZME | ke | B2 | HIRXYUE4E 406 405
34032 [k x276 S PO S KL AZME | ke | B2 | HIRXYUE4E 406 405
34222 4skkkickiokk9 8 ek X BUBRBE T LA EE | HUEERe | B4 | FHR XU E 406 405
34262 3%k kkkk%%439 i PO S KL A | ek | B2 | HIR X4 E 406 405
34128 2skksokkstorokk ] 2 B4R MUl B3 | lieEbe | B2 75 1A XML 4 = 406 405
342626 %8k k%9 1 X P MUl B3 | lieEbe | B2 75 1A XML 4 = 406 405
34052 Ikskskkkdokx 013 P ML vl A H E Bk MUb B | 25— 75 1A XML 4 = 406 405
342427k KFkxAkx%513 B ML vl A H E Bk MUb B | 25— 75 1R XML 4 = 406 405
341322%xA4kk4kk k(01X Tt ML v A H 3 Bk MUb B | 25— 75 1R XML 4 = 406 405
341322%kksk k%817 PIEFS PR BT E AL A3 | ke | B A 75 IR X U4 2 406 405
341224kksckottok k436 kg Bkt s L H BBk | Flkslbe | S84 75 AL X W42 406 405
342222%KFkxAkx%052 Fexl MU s T iE A 5 3l ik MUb B | =4 75 1A XML 4 = 408 405
341203 %kkskkkkx51 1 Fhxi BB R AL | HUBEERE | BB =4 | FHlRXPUEE4E 408 405
34062 1 stk kokk 712 ki FUBRBE T R AL | HUBEERE | BB =4 | FHLRXPUEE4E 408 405
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34240 ] skttt 8 12 ik MU T iliE S LB Z0ME | FUEBE | =4 75 LB X AU 42 408 405
342501 stk k(056 R MU T iE BB | MR | S5 =4 75 LR X AU 4 )2 408 405
340826 kksokottork4 19 * Blbkidrtdilis B3k | FUEERe | S5 =4 75 LB XA U4 2 408 405
341221 stk k857 G Blbkidrtdilis B3k | FUEERe | S5 =4 75 LB XA U4 2 408 405
342401 sksokiorkd | 5 Tk Blbkidrtdilis B3k | FUEERe | S5 =4 75 LB XA U4 2 408 405
3401 23%kksktor k3 | 3 E XN Blbkidrtdilis B3k | FUEERe | S5 =4 75 LB XA U4 2 408 405
42112485551 7 P Blbkidrtdilis B3k | FUEERe | S5 =4 75 LB XA U4 2 408 405
341226%kksskkkkx5 1 7 T Blbksrtdilis B3k | FUEERe | B =4 75 LB XA U4 2 408 405
34222 1 wctroleorsol( ] 4 e/ Bkt s L BBk | Hlksbe | S5=4H 75 LB X AU 42 408 405
34118 1 seioteotsolotk (1 X J5E Y TARTHE R —2 TR X g TRE3 2 304 301
340826%skickstssksk 01 2 FE* )% +ARTH e —2 TR X g TRE3 2 304 301
340825s%skikstieksk 0 18 kP +ARTH o =] —2 F5 R X g T3 )Z 304 301
340302:skkotstekokk 039 IS TARTHE R —2 TR X g TRE3 2 304 301
34082 skttt ] 10 * +ARTHE = —4 F5 IR X g T3 2 304 301
34253 stttk 1 7 ik +ARTHE = —4 F5 IR X g T3 2 304 301
34032 stttk 470 == TARTHE T —4H 75 WAL X T3 304 301
34060 2skksckotsiokokk (052 gk i +ARTHE TP —4 F5 IR X g T3 2 304 301
34260 Itttk 14 V= +ARTHE TP —4 F5 IR X g T3 2 304 301
340828kttt ] 1 1 fitr*+ R +ARTHE TP —4 F5 IR X g T3 2 304 301
34042 ] skotsotortor 859 A E TARTHE T | B F5 AL X 2 T3 2 304 301
3401223tttk 31 8 Sk TARTHE T | B F5 IR X e T3 2 304 301
342224 skspkkk4 13 18 TARTHE T | B 75 AR X T3 304 301
34042 Itttk 4 19 gk TATHE BT | B—A F5 IR X 3 TS 2 304 301
3401 23kksolosokk 81 4 Tz TARTHE AT be | B A F5 AL X 2 T3 2 304 301
342623 %skskkkkk%953 Hox— TARTHE AT be | B 75 IR X TAE3 2 304 301
340207 *skkkxk%%6 18 B2 TATHE BTk | B 75 AL X T3 = 310 303
340827 #skokkrtorkd 13 TEx +ARTHE BTk | B 75 AL X T3 = 310 303
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341224kkskkkokx5 19 T LARTHE TR FRIX TSR 310 303
34120 2skskkkk0k k513 *JE TARTHE TR TSI X & T3 Z 310 303
349252 3skskokkork 91 1 B TARTHE e TR X g TRE3 )2 310 303
342225%sskketokskokk 559 frpk TARTHE TR 75 IR X g T3 )= 310 303
342923k %834 FhaE ARTAE a T Fy IR Xt T3 310 303
3411 24skskkk4x019 Fi K ARTAE a T Fy IR Xt T3 310 303
340504%xkkkx5k%0 16 X AR TARTHE e 75 IR X g T3 )= 310 303
34082 Tksokkokkx319 ExiF THENR S HEA THEALEERE TR X T2 2 212 202
340802sksksotsiork015 * ik THEAE Y 5HER THEBLBE 75 LR Xt 2 )2 212 202
340302%kkkkkkk%8 18 Ik THEMR S EAR THEALEERE FHR X IR FME2)Z 212 202
34122 2%kkrleriolk(034 st THEAE R SR THENLY B 75 I X iR Rk 22 212 202
3401223tttk 498 Pk THEALEE 5 HR THEBLBE 75 Ll Xt 2 )2 212 202
340802%kkkxkk%4 16 Tex] THEMR S EAR THEALEERE FHR X IR FME2)Z 212 202
34052 [ #kkksrork 213 [ THREPLEE SHAR THEMLEE R 5 X i R 2= 212 202
34290 1 skokkrrork81 1 Bkl THENRESEAR THEML B FR X IR FKAE2)Z 212 202
340822k kK kxkk%%2 1 2 T THENRESEAR THEML B R X K2 = 212 202
3422243tk 01 3 gk THENE SR THEAL B T Xk FpE2)= 212 202
342625k 35X it THHEAEE 5 HR TR B 75 IR X R K22 212 202
34220 Ikttt 4.39 1] THENE SR THEAL B T Xk FpE2)= 212 202
340823kt 73 1 *75 RN 5HOR TR B 77 I X R K2 2 212 202
341126%+kkk4kx%553 i BT A% THREML B 75 1R X i K2 = 212 202
341227 sk kkk K T3X xRk Bt TR THEALZERE 75 1R X iR Rk 2 = 212 202
341221 sekotsototokk 599 S Bt TR THE LB 75 IS IX IR KA 212 202
34011 1 sekoksotottork519 Tk LG THE LB 75 IS IX IR KA 212 202
34042 1xskokekakdokk 4 19 2k Bt T THREML B 75 1R X i Rk 2 = 212 202
341221 sk 1 54 T LG TR B 77 L X R K2 2 212 202
341226%kksk k%456 ] AT TR TR B 77 L X R K2 2 212 202
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34082 Tkttt 31 7 A VIR T A2 ENLEER | B4 | FLRXikKRE2E 204 202
34022 3stsetototololok5 1 4 % VIR T A2 HENLEER | B4 | HLRXikKE2E 204 202
342923tk k5 | 7 Fex iy PIERIN T.72 THEALRE | 3 H | FHRKRREE 204 202
34020 Tetsotstotork6 16 JE*J% PIEKIN TFE HENLERE | 8 2H | FBRXi&RE2Z 204 202
34102 3skksolotook(0 1 3 IS VIR T A2 THENLERE | B8 | HlRK&REE2)E 204 202
34022 [ stttk 252 *IH VIR TR RN | Bod | FlRXiEKEZ 204 202
342221 stttk 054 *H PIEKIN TFE THEALRE | 35 H | FHRXKIRRE2E 204 202
340322spketkotior k816 A PIERIN T2 THEALRE | 35 H | FHRXKIRRE2E 204 202
34242655880 36 k(i PRI T2 THENLERE | B8 | HlRX&RE2E 204 202
3408265kt 054 MR PRI T2 THENLERE | B | HlRXKE Rz 204 202
34292 3kkkottotiork5 12 Y S PRI T2 THEALERE | 24| FRXIREE2Z 204 202
3422243 kscksckkodok 315 kIR PRI T2 THENLERE | B | HlRXKE Rz 204 202
341 126%kkkskk8x5 ] | SaE PIEkIN TF2 THEALERE | 24| FRXIREE2Z 204 202
3426255tttk 2 GIEZ0A PIERIN T.F2 THEMLERE | 24| FHRXRKRE2Z 204 202
340103skksokotlork51 8 IS VIR T A2 THENLER | B4 | FBRX&EREZ 204 202




